INER) GANNERMSHRE SAERR NPOEATHHYESE 2014121817
Cs&ET METHEMERERE Ba ke(&iE)
HEMNSD 1EH 2[E B 3E B 4R B 5[E B 68 B

NO Mo - o B BEETOERM | FEKAUb | 20125885 | 2012114587 | 2013 34%HR | 2013.11RAR | 2014.54%AR | 2014.11RH
1 | HiERE O(E%E) |F 481 531 416 603 282 443
2 | KIEEH 3600m 3] & 1860 1680 355 157 979 FEEL
3 =HE 3000m AR R 1600 1450 907 763 752 589
4 |5|fitéE 4900m [sAI R Hp & 2590 2070 731 757 399 FABEEL
5 |{REZEE 8600m |3a] = 1310 1170 1850 104 2120 146
6 |FFRE 11900m [SATER A £ 1480 1000 934 286 159 RAEEL
7 /MERNNGE (G ATHEHED 14350m [SATER R L 1990 895 616 577] BRAE| FRFH
8 [INRKIE 17250m AT R B R 2990 2160 2550 2430 435 FABEEL
9 BB 19150m| A & 2280 5530 2890 981 904 380
10 ik RS 20400m |3a] = 5700 2930 732 835 599| FAEEL
11 |[EEE 22050m |3a] = 13200 4220 726 1290 707 617
12 |—&B 23000m |3A] 2500 989 973 666 {EWRAH FEEL
13 [/MEFII4E (EE6 ) 24100m |30 = 643 765 746 254 253 HEEL
14 [FA—2KIE ITBE 25200m |3a] = 256 493 2160 393 559 HAEEL
15 | KFHE 26400m |3a] = 3660 412 536 168 790 608
16 |FEDIRE 27300m | A )= 7850 3850 1080 834 204 FEEL
17 |FAERtE 28100m |3 = 2210 701 976 375 1570 REEL
18 [BBRATE (OKIEHFIE) 29050m | A )& 2790 1480 2090 667 1080 535
19 [/MNEFII4E (EE3545) 30350m |3A] = 2400 4440 3750 3570 BEERAFE|  HEEL
20 BB FEH(OLKIETHAEKRA) 31850m Al = 3130 2630 1630 1180| HEEWAE| FABEEL
21 |[$BRFBH (OLIETh/MNEFIS) 33850m |3 = 1130 964 1440 695 1010 892
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